OBFhHT

XECAHI
ANBIZ2% 1 THi- =158

1-FNO &
3
[P

B (me*55)

% Zk(ilimc:))

~

;,E~ H riro59)

B B (FeEevas

30 5% H o we
=] A et o5 9)
Bt FRm o= 2

Bye ¢ )

*ﬁ =(§:§NTC~>‘)

31

L HEE e

b
=z
5
o
\

B (3L 44L)
(INEAFEHELT)

L

B

1

Z(F &)

REEN—TF AL

OF: B DEH
X J—HMNo.30~32

[ X3H5—LXTYF |

NO. Tavr—m G

Z(F &)

3

1-3 1 12 6-3 PO B (ErwRY )2
0 ©
6-4  2— —13 14 B R (mmwos)
74 3— = ——14 2-4 A Bp cm=mawev)
- - — - 32
0 5 0
2-3 4 #* —15 -3 K FHnzrso
_ | o -
==
3-3 5 g —16 34 M E(nwss)
0 -
4-3 6 1 - 17 83 PR Ff (FPEET2T,
8-4 77— 18  9-3 Bye ( )
-4 8— 19 10-3 = *ﬁ ( %«‘&72591: )
L
10-4 99— —20 44 ][] tE cness55) 31
1-4 10— —21 54 Bye ¢ )
3
53 11 22 11-3 I }Eﬁmuajj)é




Q@%FAhT

MEC A
ANBIZ2% 1 THi- =158

B(3fiz441) REfb—FAVb

(UNFAFELT) %a—HMNe.26

L |

X85 —LXIYF |

B

O : HADEH

)

)

)

)

)

26

3-kNO & % (P J& ) 7ovr-me No. NO. Jmvs—IRfs & % (FR J& ) =-tno
2 0 0 — o
S T (AEH5T) 1-3 | 743 TR g (27472
o " 0 o
IN M BT 44 20— 1 B H —8 14 & F H N3
- — _b - —
Bye ¢ ) 5-4 3— % —9 53 & 7= ( FLATHILL
0
26 - — _
H B (LEIST) 2-3 4— —10 2-4 Bye ¢
0 0
= & ( Hachitsku ) 6-4 5— —11 3-4 ZB B ( FLATHILL
0 0
v B ( Hachitsku ) 3-3 6 12 6-3 K A« utc




R@BFH—TR B(34I4fi) REib—FAVE OF: B DEH
(INEEFEHLT) %1—kNo.20~21

XEEAHI A—
ANBIZ25H TH-T-188 | [ X35—LXTvF |
B 1
-tno B 2 (B ) =vrmano NO. Tavs—it B 2(FF RB) o
2
@%ﬁé‘ H (smrr-v) 1-3 1 14 83 & B (sEAE—Y)
/N AR (smri-v) 12-4 2—— ——15 5-4 Bye ¢ )
- 0

B PFrazss59) 11-4 3— ——16 44 Bye ¢ )

1
= Bpcsmxt-v) 23 4 —17  9-3 Bye ¢ )
B #pce s ») 84 5— 7 ——18 1-4 Y AKRnzsso)

o | &= o
Bye ¢ ) 9-4 6— (=) 19 10-3 PR R ¢ we
o | & L
= B (mmacv) 33 17— —20 11-3 F  F (F5L5a2=7)
0
20 - - — - = - 21
1
N KRR s ) 43 8 ——21 2-4 ff g« we
1
e 0 ’
OBk wmosIy 13-4 99— —22 74 78 % (%= m=owC V)
5 XKmnsssr) 53 10— ——23 12-3 K B (me*53)
En  H (FEPS) 63 11— [ B B2 s =
in ¥ evroz) 104 12— —25 64 I AR mexss)
2
b [ rerss9) 73 13 26 13-3 F J||<ew—s>z~>é




®%XFHhT vk B(34I4fi) REib—FAVE OF: B DEH
(FEIFELUT) %a—kNo.11~12

XEE A . - -
ABBIZ2%H1 T84 | [ X3T—LAXIYF ]
B—~
-tNo FG 2 (P J& ) 7mvo—me No. NO. Favs—at PG 2 (P J& ) a-tno
— - L - _
é{Z:,_ BE(m @2 e) 1-3 1 —10 6-3 FK Bz =s)
Bye ( ) 84 2 R —11 3-4 K H we
- E _
Bye ( ) 7-4 3 — —12 1-4 Fh ITREEI=S
_ x _
=x] WE (% x = w) 2-3 4— & —13 73 ¥ B wmwm2 @)
_ . _
R H s # % %) 33 5 14 83 T JI| (% = 2 &)
11 - — - - — - 12
[1i7] i (% = = w) 43 6— L—15 5-4 Bye ( )
Bye ( ) 9-4  T— — 16 4-4 Bye ( )
Bye ¢ ) 6-4 88— 17 2-4 Bye ¢ )
- - 1
K WE (% w2 =) 53 9— 18 9-3 ¥r **(%ﬁzq:)é




